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What is the length, in centimeters, of GC?
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) As shown below, the medians of AABC intersect at D. If the length of EF is 12, what is the length of BD?
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) In the diagram of AABC below, Jose found centroid Pby constructing the three medians. He measured CF
ond found it to be 6 inches. If PF =x, which equation can be used to find X?

1) x+x=6
2)2x+x=6
3)3x+2x=6

4) x+-,_2;-x=6

@ In the diagram below, point Pis the centroid of AABC. Tf PM=2x+5 and BP=Tx+ 4, what is the length of

PM? |
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8) The three medians of a triangle intersect at a point. Which measurements could represent the segments of one

of the medians?

1) 2and3
2) 3and 45
3) 3andb

4) 3 and9
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. @ In the diagram below of ATEM, medians TB, EC, and MA intersect at D, and 7B=9. Find the length of 7D,

D= %(Tﬁ> Ry
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10) In the diagram below, @—{ is a median of triangle QR and point Cis the centroid of triangle QR If QC=5x
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and CM=x+12, determine and state the length of QT/I







